| mean # PXL hits vs eta

<pixel hits>

Ratio

0.95L

-3

—‘2

—i10i1

2'

3
n

| mean

# PXL Layers with measurement vs eta |

<pixel layers>
N w
N a1 w a1

=
ul

0.5

Rati
=

095

.....................................................................

.....................................................................

OJ-.LQ_IIII

mean # STRIP hits V|

—=— DQM_mkFit_TT_base
—e— DQM_mkFit_TT_retrain_noCandDNN
—+— DQM_mkFit_TT retrain

<strip hits>

= N W B~ O O N 00 ©

.....................................................................

(0}
-
(=)

ati

H
!

0.95

W#§*+++**H*W#**ﬁ*ﬂﬂgﬁ‘ """

<strip layers>
a1




	Contents
	Page 1


